


FOREWORD

The Membership of the Royal College of Obstetricians and Gynaecologists
(MRCOG) remains the cornerstone for the assessment of knowledge required by
trainee doctors in the UK. Passing the exam is a prerequisite for progression through
the structured training programme towards the Certificate of Completion of Training
(CCT) and entry on to the Specialist Register. The standard of the exam remains high
and the curriculum is based on UK practice.

The MRCOG Part 1 and Part 2 exams can be taken at any time after
graduation. This book aims to provide an exam revision guide for trainee doctors in
ST1- STS5 and international candidates preparing to sit the exam.

For international graduates often working outside of recognised training
programmes, it is a tough exam to pass. Despite this, many international graduates
continue to take the exam knowing that success will demonstrate the acquisition of
knowledge to a high standard, which will enhance the treatment of the women and
babies in their care.

The MRCOG Part 1 has changed in the last few years. It has always tested the
knowledge base in all the basic sciences as they pertain to obstetrics and
gynaecology, but the examination now contains only single best answers (SBAs).
This allows the syllabus to be tested in a more clinically relevant manner. Doctors
planning to take the exam must know how to answer the SBA format, and for this
they require exam technique and clinical knowledge.

In this edition there are 1100 SBAs - 35% more than in the first - which have
been updated to account for changes in practice and guidelines. Covering all the core
sciences as well as current RCOG clinical recommended practice, MRCOG Part
1:400 SBAs provides a comprehensive revision aid with helpful explanations after
each question.

From March 2015, the format of the MRCOG Part 2 consists of two written
papers, each of which count for 50% of the total score. In each paper there are two
question formats: 50 single best answer questions (SBAs) and 50 extended matching
questions (EMQs). The duration of each exam is three hours with no formal time
allocation to each section. However, the RCOG recommends spending 110 minutes
on the EMQ paper and 70 minutes on the SBA paper, given that the EMQ component
carries 60% of the total mark. The RCOG website, www.rcog.org.uk, provides
further detail on the exam format, together with some sample questions, which you
should be familiar with.

In the months leading up to the exam, make sure you are up-to-date with all
clinical guidelines and practice in the UK. This includes familiarizing yourself with
the RCOG Green-top Guidelines, patient information forms, consent advice, and
scientific advisory papers. Non-RCOG guidance which you should refer to include
the CEMACH/CEMACE reports, NICE Guidelines, The Obstetrician and
Gynaecologist, A Guide to the Part 2 MRCOG and the MRCOG and Beyond series.

Practising exam papers will also provide insight into whether you need to
allocate more time to EMQs or SBAs. It may help to understand the structure of the
questions. EMQs have four components: the theme, an—swer options, the
instructions, and the question items. SBAs, on the other hand, consist simply of a
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question and five answer options. Some SBAs include a lead-in statement preceding
the question. In both SBAs and EMQs, the answer options are in alphabetical or in
some other logical order.

Exam revision advice

Exam format

The MRCOG Part 1 exam is composed of Paper 1 and Paper 2. Each paper
consists of 100 single best answer (SBA) questions and is equally weighted with 50%
of the marks available for each. Each paper must be completed within two hours and
thirty minutes (150 minutes).

Single best answer (SBA) questions

SBAs comprise of three components: a stem (most commonly a clinically
relevant vignette), a lead in question and five answer options. The answer options are
homogenous and are presented in alphabetical or numerical order for ease of
reference.

Candidates should read the question carefully then select the single most
appropriate answer from the five options.

The nature of a SBA means that there are four distractors surrounding the
correct answer. Of the four distractors, there may be one or two distractors which can
reasonably be identified as incorrect. There are also likely to be one or two distractors
that are plausible answers. At this point candidates will need to read the stem and
lead in question again, then make a judgement as to which answer fits best.

What is an SBA?

Single best answer questions - also referred to as 'best of five' questions -
usually consist of a stem describing a scenario, a lead-in question, and five plausible
options labelled a-e, one of which is clearly the most appropriate. They are designed
to assess application of knowledge and clinical reasoning.

Although the five options are plausible - some may even be partially correct -
there is always one answer that is clearly the best.

A typical SBA is shown below:

A 24-year-old presents at 27 weeks into her second pregnancy feeling unwell,
with backache, fever and rigors. She has a temperature of 39.5 °C. Urinalysis shows
leucocytes and protein +++. Her blood pressure is 80/50.

Which is the most appropriate action to take?

a) Admit to ICU/HDU for intravenous antibiotics and supportive care
b) Arrange ultrasound of renal tract

0 Commence 7-day course of oral antibiotics

d) Give intramuscular steroids to promote fetal lung maturity

o) Make referral for physicians to review

How to use this book

The aim of this book is not to provide another revision text to consult, but
rather to tackle the common and difficult areas faced by candidates undertaking the
exam. Questions have been com—piled by junior doctors who have recently passed
the exam, together with consultants who have a special interest in postgraduate
education and training. The structure and content of the book matches the format of
the exams. A detailed explanation is provided along with each answer, as well as
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appropriate references where relevant. Whilst this book is focused on the UK
MRCOG Part 1 and Part 2 exams, it will also be useful for candidates anywhere in
the world who are attempting postgraduate examinations in this speciality, wherever
a similar format is applied.We believe that one of the best ways to revise for the
exam, and crucial to passing at the first attempt, is to work through practice questions
again and again. In this way, confidence will be gained with the new question format
and the full curriculum will be covered.

Finally, having a study buddy is a good way to maximise exam preparation. In
addition to keeping each other on track, you will be able to help with areas of the
curriculum that your buddy may be struggling with. We studied for the exam
together, which gave us focus, a timetable to keep to and some friendly
competitiveness to make sure we took our exam preparation seriously.

The move from true/false MCQs, which rely on rote learning, and SAQs,
which are difficult to mark consistently, will increase the validity and reliability of
the MRCOG and USMLE exam. All questions are reviewed by teams of consultants
prior to inclusion in the bank of questions for the exam and are edited to ensure they
are not ambiguous and are relevant to the standard of an ST5 trainee. The questions
are reviewed on a regular basis to ensure that they are up to date and reflect current
clinical practice in the UK. The pass mark varies for each exam depending on the
difficulty of the questions. This is set prior to each exam using the Angoff method -
assessing the proportion of borderline candidates who would be expected to get the
right answer to the question. All questions used in the examination are reviewed to
assess their ability to discriminate between good and poor candidates. Any question
with poor or negative discrimination may be rewritten or discarded.

Modern examinations need to assess clinical knowledge and ability. By
moving to SBA and EMQ styles of questions, the MRCOG exam goes beyond basic
knowledge and allows assessment of clinical reasoning and data interpretation. This
reflects the doctor's clinical practice more accurately.

Answering the questions

For each Part 2 MRCOG examination paper, the SBA answer sheet is
numbered 1-50. Against each number there are five lozenges labelled a-e:

[a] [b] [c] [d] [e]
[a] [b] [c] [d] [e]
[a] [b] [c] [d] [e]
[a] [b] [c] [d] [e]
[a] [b] [c] [d] [e]

Answer each question by boldly blacking out the letter that corresponds to the
single best answer in the options list:

—— [b] [c] [d] [e]
[a] [b] [c] m— [e]
[a] — [c] [d] [e]
[a] [b] e— [d] [e]
[a] — [c] [d] [e]




Candidates may mark their responses in the question book and then transfer
them to the answer sheet, but be aware that this will take longer and all answers must
be transferred fully within the time allowed for the examination.

The 1100 SBA questions included in this book have all been produced by the
Part 2 SBA Regional Question Writing Group and reviewed by the Part 1 and Part 2
MRCOG SBA Sub-Committee, following the same process and meeting the same
standards as the questions that will be used in the actual examination.

Although the sample questions exemplify content on the examination, they
may not reflect the content coverage on individual examinations. In the actual
examination, questions will be presented in random order; they will not be grouped
according to specific content. The questions will be presented one at a time in a
format designed for easy reading, including use of exhibit buttons for the Normal
Laboratory Values Table (included here) and some pictorials. Photographs, charts,
and x-rays in this booklet are not of the same quality as the pictorials used in the
actual examination.

When in the exam, be sure to read each question and its parts carefully, perhaps
highlighting or underlining important points. Try to come to the answer before
looking at the options available. To answer a question correctly, you must have a
clear concept of the topic, along with in-depth knowledge of the clinical area. If the
answer option has multiple parts, make sure that all parts are correct in relation to the
question item before selecting it as the correct answer. Try to focus on what you
would do if you encountered each scenario in real life, perhaps in clinic or on labour
ward.

Finally, it is important to remember that each correct answer is awarded one
mark. Incorrect answers are not penalized, so it is in your interest to answer every
question. Allocate some time to ensure the answer sheet is correctly filled in—if you
fill in two lozenges on the same question, you will not be awarded any marks, even if
one of them is correct.

Good luck!
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SBAs AND EMQs FOR THE MRCOG PART 1
CHAPTER 1
ANATOMY

QUESTIONS

For each question, select the single best answer from
the five options listed.

1. An 82-year-old woman attends her general
practitioner's surgery complaining of a painful lump in the
groin. Which of the following does not form a boundary of
the femoral triangle?

A. Adductor longus
B. Inguinal ligament
C. Obturator internus
D. Pectineus

E. Sartorius

2. A 32-year-old woman complains of pain in the right
buttock. She is 36 weeks pregnant and has a history of
chronic back pain. Which nerve supplies the gluteus
maximus muscle?

A. Inferior gluteal

B. Internal obturator

C. Internal obturator (lateral cutaneous nerve of
the thigh)

D. Sciatic

E. Superior gluteal

3. Following a routine elective caesarean section, the

rectus sheath is being sutured. With regards to the rectus
sheath, which of the following is correct?

A. Arcuate line demarcates the upper limit of the
posterior layer of rectus sheath

B. External oblique aponeurosis forms the posterior
aspect of the sheath

C. Internal oblique aponeurosis always passes in front of
the rectus abdominis

D. Scarpa's fascia is superficial to Camper's fascia and
the external oblique

E. Transversalis fascia lies directly below the rectus
sheath

4. A 47-year-old woman undergoes a routine
transabdominal hysterectomy to remove a large fibroid
uterus. She is found to have a fibroid in the broad ligament,
and there is concern that her ureter may have been damaged
during the operation. With regards to the path of the ureter,
which of the following is correct?

A. In the broad ligament, both ureters pass over their
respective uterine artery

B. It runs lateral to the internal iliac artery

C. Ovarian vessels enter the pelvis posterior to the
ureters

D. The upper third of the ureters lie in the abdomen

E. Ureters cross close to the bifurcation of the common

iliac vessels

5. What structure does the right ovarian vein empty
into?
A. Azygos vein

B Inferior vena cava
C Internal iliac vein
D Right renal vein

Right pudendal vein
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6. A 27-year-old woman has a forceps delivery under
regional anaesthetic. She suffers multiple second degree
tears to the lateral vaginal wall. Sensory innervation of the
vagina is provided by which nerve?

Dorsal nerve of the clitoris

Inferior hypogastric plexus

Inferior rectal nerve

Obturator nerve

Pudendal nerve

moawy

N

Which artery supplies the structures derived from the
foregut of the embryo?

A. Coeliac trunk

B. Inferior mesenteric
C. Middle rectal

D. Renal

E.

Superior mesenteric

8. A 73-year-old woman undergoes a laparoscopic-
assisted vaginal hysterectomy and oophorectomy. There is a
large bleed during the procedure, so it is converted to
laparotomy. Which of the following provides the arterial
blood supply of the left ovary?

Abdominal aorta

External iliac artery

Internal iliac artery

Left ovarian artery

Obturator artery
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9. During a laparoscopic-assisted vaginal hysterectomy,
the surgeon accidentally damages the ovarian artery. With
regards to the left ovarian artery, which of the following is
correct?

It anastomoses with the vaginal artery

It is a branch of the abdominal aorta

It follows the course of the left ovarian artery

It lies inferiorly to the inferior mesenteric artery

It supplies both left and right ovaries
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10. Which of the following arteries is a terminal branch
(not paired) of the abdominal aorta?

A. Gonadal

B. Median sacral
C. Phrenic

D. Renal

E. Suprarenal

11. Following a forceps delivery, a 32-year-old woman
has an episiotomy repaired. Which of the following does not
insert into the perineal body?

Bulbocavernosus

External anal sphincter

Ischiocavernosus

Levator ani

Transverse perineal
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